Installation Instructions

T-Series Macerator and

Discharge Pump

Dimensional
Specifications

Electrical
Specifications

(@ Dometic:

=

Dometic Corporation * Sanitation Systems
13128 State Rt. 226, P.O. Box 38

Big Prairie, OH 44611-0038 USA
330-496-3211

7 1/2-inch
[1

7 1/4-inch~|
[184mm]

1-800-321-9886 « Fax: 330-496-3097

® Registered; ™ Trademark of Dometic Corporation
© Dometic Corporation

91mm]
e ' t 1lztlgr'r'1rr‘nc]h Discharge/Suction Lifts (feet)
] fe—— -

3 e’ ] Discharge | 0 |2 |4 |6 |8]10

12 3/4-inch Suction 10(8[6|4(2]0

[324mm]

Model | Volts (DC) | Avg. Amp Draw | GPH | Fuse/Breaker | Wire Size | Weight

T12 12 6 270 10 Amp 12-14Ga. | 7 Lbs.
T24 24 3 270 5Amp 14-16 Ga. | 7 Lbs.

Caution: This pump is not for use as a VacuFlush toilet vacuum pump. Damage to the pump and system would result. When pump is
used to discharge SanX or TDX systems, follow electrical and plumbing instructions in your SanX or TDX owner’'s manual. When using
this pump with a holding tank, see illustration below. Pumping against a closed seacock will result in damage to the duckbill valves.

Typical Discharge Application

@ DECK DISCHARGE
TANKWATCH
) VENT

e

HOLDING TANK

FILTER

DISCHARGE
PUMP

VENT
FITTING

Before mounting the pump, you must consider the following:
1. The pump must be mounted horizontally (motor on top) on floor, deck or shelf. The pump will not
operate if mounted vertically or on its side.
2. The pump should be mounted above the holding tank to prevent waste overflow during maintenance or
repair. (See diagram.)
3. Itis recommended that a 1-1/2" valve be installed at tank outlet for maintenance or repair, if #2 is not

possible.

4. You may want to provide a dip in the hose at the outlet of the holding tank to facilitate tank drainage
during pumpout. This dip should extend below the tank outlet approximately 6".
5. When mounting space prohibits installing the pump above the the holding tank, you should provide a
loop in the hose that extends to the top of the holding tank between the tank outlet and the pump inlet.
This will reduce overflow during maintenance or repair.
6. Vessels with an underwater discharge seacock or thru-hull must have a vented or anti-siphon loop
installed well above the water line between the pump outlet and the seacock or thru-hull. The vented
loop should be plumbed with hose to a thru-hull fitting well above the water line.
7. When the T-Pump is replacing a macerator-type discharge pump, you will need the 1-1/2" x 1" hose
coupling provided. This coupling utilizes the 1" seacock already installed. Mount the hose coupling in
the discharge line at least 5 feet away from the pump outlet to prevent possible plugging due to the
size reduction. You will need 5 feet (1.52m) of 1-1/2" hose to run from the T-Pump to the hose coupling.
8. The use of a Noise Isolation Kit, part #319053, will greatly reduce the low frequency noise that can
originate from the T-Pump during operation. This is important when mounting the pump to fiberglass
or wood surfaces.



Important: The T-Pump inlet and outlet fittings have left-hand threads. Be certain that fittings have not
loosened during hose installation. To tighten fittings, turn counterclockwise. To loosen, turn clockwise.

Electrical Wiring:

Wire the T-Pump as shown in the wiring diagram. Use the multistranded copper wire. Protect the wiring by
installing grommets or other protective device at holes and sharp edges. Proper fuse or circuit breaker size is
extremely important for pump and wire protection. Overfusing this pump will result in warranty invalidation.

T12 )BLK = - BLX < -12vDe
PUMP
&O—O)/Oﬂ< +12VDC

ON/OFF
Caution: U.S.C.G. Regulations allow overboard discharge of untreated sewage when the vessel is beyond
the 3-mile limit. However, the overboard discharge seacock or shut-off valve must be secured in the closed
position while operating within the 3-mile limit. Use of a padlock, heavy tape, non-releasable wire tie or
removal of the valve handle would be considered adequate securing of the valve.

T-Series Discharge Pump Item | Part No. Description Qty.

600340237 | #4 x 3/8" Pan Head Screw
385640239 | Pump Cover Kit

600341502 | Pump Top Closure

600342332 | #10-32 x %" Hex Head Screw
385310151 | O-Ring Replacement Kit

600340664 | Bushing

600343006 | Shoulder Screw, 2" x .687 x 3/8-16
600347807 | Bellows Clamp

600340669 | Valve Nipple

10 | 600347802 | 1 %" Duckbill Valve

11 | 600341489 | Pump Body

12 | 385230980 | Bellows Assembly (includes item 6)
13 | 600347788 | Set Screw, ¥-28 x 5/16"

14 | 600344470 | Eccentric

15 | 385310245 | 12 VDC Motor

15A | 385310246 | 24 VDC Motor

16 | 600341503 | #10-12 x 7/8" Hex Washer Head Screw *
17 | 600341113 | 1" x 1 %" Reducing Adapter

Not Shown

385310250 | Pump Assembly Less Motor
(includes items 3, 5, 6, 8, 9, 10, 11, 12, 19)

oo~ wWwN -

QY- R GG G GGG NOJ NG I N Y G GG NG N

—_

\ =77
e o . N
TIGHTEN |
VJ DIRECTION OF FLOW
LOOSEN
Y WARNING
Pump starts automatically. Turn " - "
off power before servicing. Note: When reassembling pump, tighten screws to 20+2Ilbs., or

until snug. Over-tightening will cause holes to strip.

Dometic Corporation manufactures a complete line of sanitation products and systems. Write or call the
factory to receive free literature on the following products:

- VacuFlush® Toilet Systems - SealLand® Toilet Bowl and Seal Cleaner

- SaniPottie® Portable Toilets - Tough Tank® Holding Tanks

- SealLand® brand Liquid and Dry Deodorant Products - SeaLand® Holding Tank Vent Filter

- Seal.and® Environment-Friendly Holding Tank - OdorSafe® Sanitation Hose and Fittings
Deodorant - TankWatch® Holding Tank Level Monitors

- Seal.and® brand Marine Toilet Tissue

600340678 7/03



